Poxin =
1 AAEN
1. LEA4
THE4 R X A HE K R o 7 i A B i o T
TEH 4 LR R A S TR A S
2. TENE
1)  FHEIT4 TEN) IR AT gk B
2) T o3 B % i
3) T biij 425 H [ H & TH 3H31H
ES S0 84 5H29H
4)  TEE

ESR S S E IR Wk S



B N ERE

THEA | MRHKEEPEARR 7B R B i T T

TEHEXSy - TfE - fER Bz ¥ = & K M i N 7
BUET = 1 107, 433, 858
B BB R i A = 1 107, 433, 858
I BE 5% A = 1 86, 538, 858 | BREERE (A1) -V ETe) 3 H
V=318 EE R KEEIE 2. 275m KE R 3. 6m
/A (KA vb) BULE 1 H
AN VN KA VMEE 0. 75m K EHEE12. 5m ;
RREE 1 =
BRAERIAEN = 1 17, 100, 000 | 3% B R (R HE VAR 1 i)
BAASE ST
TG EEE T () = 1 3,795,000 |ERWEL 690 m2
B 5 2V 1 12, 804, 000
FlAY R 2V 1 120, 237, 858
TIGE 2V 1 6, 734, 000
AR 2V 1 126, 971, 858
PEAF T X 1 10, 319, 328
o3 BB 5 i 0% = 1 424, 000
pE = 1 424,000 | HHEKE V7" R % 1 =
B EE R A P = 1 9, 881, 598
FREEAEHE(T T = 1 6,564, 739 | JEAT (BREERE) 1 =
V=31 EEEEE A ESR RS A T
/A (KA V) BB 1 2V
RPN

-1 - Etrzmey TR R




B N ERE

THEA | MRHKEEPEARR 7B R B i T T

THRXSy « Lff - fEi5 Bz ¥ & & A M a1l N 7

RIRZEBRAT 1 F2V

B & e 1 F2V

RS 1 B2V

WET = 1 9,580 | EREM 1 =

o7 U — bk GRS
RSy 1 F2V
2 )b ()

iR iA R 2E T (KA 22 4) = 1 3,307,279 | BREEREES 1 F2V

B A F AR R 1 F2V

[EREES 1 B2V
E% T X 1 13, 730

AEEB T = 1 13,730 | A3 @A g B 1 F2V
Il R = 1 1, 539, 000
Il (it L) = 1 1, 539, 000
il TR = 1 11, 858, 328
Bl H 2V 1 2,710, 000
PELH = 1 7, 355, 000
PEAT TR 5 = 1 21, 923, 328
A = 1 2, 426, 000
T =5l = 1 151, 321, 186
— R B 2V 1 26, 268, 814
T =AM = 1 177, 590, 000

-2 - Etrzmey TR R




